Charlie Peppler

From: Mike Patterson [PMP@esclaw.com]

Sent: Tuesday, January 20, 2009 12:03 PM

To: 'charlie_peppler@co.escambia.fl.us'

Subject: 00758-100643 Touart, George:

Attachments: Doc_199_DB52.xls

Charlie:

As we discussed and as the County has requested, attached is a revised invoice we are submitting to the County for payment of fees and costs incurred by Emmanuel Sheppard & Condon in their representation of former County Administrator, George Touart, regarding complaints brought by Michael Coonan and Preston Solomon with the State of Florida, Commission on Ethics. Please review same and if you have any questions or comments, please give me a call.

Thank you.

Mike

¥ ·		GEORGE TOUART	,		
	•	TOUART FEES			
Date 10/15/07	Atty PMP	Description Telephone conference re: costs, draft engagmenet letter and ethics letter review.	Hrs 0.6	Rate \$250.00	Amount \$150.00
10/15/07	RSH	Follow up with BLF re opening file	0.1	\$95.00	\$9.50
10/15/07	RSH	Draft engagement letter; draft email to G. Touart forwarding same	0.4	\$95.00	\$38.00
10/16/07	PMP	Consulting with G. Touart (t/c and office conference)	1.1	\$250.00	\$275.00
10/23/07	RSH	Follow up email to G. Touart re engagement letter	0.1	\$95.00	\$9.50
10/24/07	RSH	Receipt and review of Solomon Complaint; instructions to BLF re opening new matter, performing conflict check, drafting engagement letter and drafting representation letter to Ethics Commission	0.4	\$95.00	\$38.00
10/29/07	RSH	Telephone call from Q. McCray re statement re ethics complaints; telephone calls (2) from client re same; leave vm for PMP re same	0.1	\$95.00	\$9.50
10/31/07	RSH	Revise and finalize engagement letter and letter of representation to Ethics Commission; email to G. Touart forwarding same	0.2	\$110.00	\$22.00
11/01/07	PMP	Preparing for meeting with Neal Nash and meet with Neal Nash at his office.	0.9	\$250.00	\$225.00
11/06/07	PMP	Followup with George regarding status of complaint.	0.5	\$250.00	\$125.00
11/06/07	PMP	Preparing for and attend office conference with Touart.	1	\$250.00	\$250.00
01/03/08	PMP	Talk with George Touart.	0.2	\$300.00	\$60.00
01/21/08	PMP	T/C G. Touart	0.2	\$300.00	\$60.00
01/21/08	PMP	Vc with G Touart	0.2	\$300.00	\$60.00
03/03/08	PMP	t/c with G T	0.3	\$300.00	\$90.00
03/10/08	RSH	Teleconference with G. Powell re interview with G. Touart; teleconference with G. Touart re same; instructions to MDW re coordinating interview and preinterview conferences; conference with PMP re same	0.4	\$110.00	\$44.00
03/10/08	MDW	Arranging interview, plan with opposing counsel.	0.3	\$70.00	\$21.00
03/10/08	RSH	Teleconference with G. Powell re interview with G. Touart; teleconference with G. Touart re same; instructions to MDW re coordinating interview and pre-interview conferences; conference with PMP re same	0.4	[†] \$105.00	\$42.00
03/11/08	RSH	Email to G. Touart confirming pre-interview and interview conferences	0.1	\$110.00	\$11.00
03/11/08	MDW	Coordinate interview; Draft correspondence to client.	0.6	\$70.00	\$42.00
03/11/08	RSH	Email to G. Touart confirming pre-interview and interview conferences	0.1	\$105.00	\$10.50
03/17/08	MDW	Checking on interview response.	0.2	\$70.00	\$14.00
03/18/08	MDW	Drafting letter to Touart; Finalize.	0.3	\$70.00	\$21.00
03/31/08	MDW	Discuss pre-interview meeting preparation with Mike Patterson.	0.1	\$70.00	\$7.00
03/31/08	PMP	research and review complaints and o/c with George Touart	1.5	\$300.00	\$450.00

04/01/08	PMP	prep for statement today	0.3	\$300.00	\$90.00
l .	РМР	attend recorded statement of George Touart by Kieth Powell (Ethics Comm)	1.5	\$300.00	\$450.00
05/14/08	RSH	Follow up with PMP re contacting K. Powell	0.1	\$105.00	\$10.50
05/15/08	RSH	Teleconference with G. Touart re upcoming interviews; email to PMP re same	0.1	\$105.00	\$10.50
05/22/08	RSH	Teleconference with G. Touart re interviews and information obtained from investigator; email to PMP re same	0.1	\$105.00	\$10.50
06/11/08	RSH	Teleconference with K. Powell re status of investigation; email to PMP re same	0.1	\$110.00	\$11.00
06/11/08	RSH	Teleconference with K. Powell re status of investigation; email to PMP re same	0.1	\$105.00	\$10.50
06/18/08	RSH	Teleconference with G. Touart re wife's employment; draft email to K. Powell re same	0.2	\$110.00	\$22.00
06/18/08	RSH	Teleconference with G. Touart re wife's employment; draft email to K. Powell re same	0.2	\$105.00	\$21.00
06/24/08	RSH	Draft memo to PMP re teleconference with G. Touart	0.2	\$105.00	\$21.00
06/24/08	RSH	Supplemental email to K. Powell re Mrs. Touart's employment	0.1	\$110.00	\$11.00
07/01/08	PMP	t/c George Touart re state investigator questions	0.1	\$300.00	\$30.00
07/15/08	PMP	tel conference with G Touart re request for information from K Powell - GT will have it here tomorrow	0.2	\$300.00	\$60.00
07/16/08	RSH	Review fax and attachments from Grimes; draft email forwarding same to K, Powell	0.2	\$110.00	\$22.00
07/24/08	RSH	Initial review of report from K. Powell; draft email to G. Touart forwarding same	0.2	\$110.00	\$22.00
07/25/08	MDW	Review of/compile letter from Starting regarding report of investigation; draft e-mail to client; analyze appropriate prep time to same.	0.6	\$70.00	\$42.00
07/25/08	MDW	E-mail from PMP regarding ethics report; e-mail RSH; read response.	0.1	\$70.00	\$7.00
07/29/08	RSH	Conference with G. Touart re errors in investigative report and meeting with PMP; email to PMP re same	1 ¹ 0.3	\$110.00	\$33.00
08/04/08	MDW	Conference with PMP regarding written response to report of investigation.	0.1	\$70.00	\$7.00
08/04/08	RSH	Conference with PMP re draft of response to report of investigation; email to G. Touart forwarding draft; finalize same	0.2	\$110.00	\$22.00
08/07/08	RSH	Teleconference with K. Starling re production of Advocate's Recommendation and Report of Investigatory to other investigatory commission	0.1	\$110.00	\$11.00
08/11/08	PMP	transmittal letter and directions to RSH	0.2	\$300.00	\$60.00
08/11/08	RSH	Teleconference with Virlindia Doss re confidentiality of documents filed with Ethics Commission; email to PMP re same	0.2	\$110.00	\$22.00
08/13/08	MDW	Conference with PMP regarding call Keith Power regarding commission meeting.	0.1	\$70.00	\$7.00
08/20/08	RSH	Follow up with PMP re contacting K. Powell re attendance at hearing	0.1	\$110.00	\$11.00
08/21/08	MDW	Conference with PMP regarding probable cause hearing; prep of same.	0.1	\$70.00	\$7.00
08/28/08	MDW	Conference with PMP regarding probable cause hearing.	0.1	\$70.00	\$7.00
08/28/08	MDW	Receipt and Review of instructions from RSH regarding letter to client regarding ethics hearing.	0.1	\$70.00	\$7.00

08/28/08	MDW	Drafting letter to client regarding ethics commission meeting; e-mail PMP.	0.3	\$70.00	\$21.00
08/29/08	PMP	t/c G Touart re investigation	['] 0.1	\$275.00	\$27.50
09/02/08	MDW	Conference with PMP regarding probable cause hearing.	0.1	\$70.00	\$7.00
09/02/08	PMP	Review hearing materials for 9/5	0.3	\$275.00	\$82.50
09/03/08	MDW	Compile hearing information; draft e-mail to client for PMP.	0.3	\$70.00	\$21.00
09/03/08	MDW	Review of e-mail from PMP regarding hearing.	0.1	\$70.00	\$7.00
09/11/08	MDW	Conference with PMP regarding results from commission meeting.	0.1	\$70.00	\$7.00
09/11/08	RSH	Instructions to AGR re obtaining copy of commission's decision	0.1	\$110.00	\$11.00
09/15/08	RSH	Instructions to AJR re fed exing copies of commission's decision to M. Perego	0.1	\$105.00	\$10.50
09/15/08	RSH	Teleconference with G. Touart re pre-hearing conference with PMP, copies to Perego, etc.	0.1	\$105.00	\$10.50
09/15/08	RSH	Follow up with AJR re status of obtaining copy of commission decision	0.1	\$110.00	\$11.00
09/16/08	PMP	Office conf. with George	0.3	\$300.00	\$90.00
11/18/08		Email to PMP re teleconference with client re payment of		\$110.00	\$11.00
		invoices by County			
		TOTAL FEES:			\$3,446.00
		• • • • • • • • • • • • • • • • • • •	• = .	•	
		TOUART COSTS		I	'
	•		Amount		
	11/07/07	Electronic Data Transmission 12029623500	\$4.00	•	•
ŀ	÷	Electronic Data Transmission 12029623500	\$4.00		
	•	Electronic Data Transmission 18659081247	\$4.00	•	,
		Electronic Data Transmission 18659081247	\$4.00	•	
	•	Photocopies	\$32.50		
	•	Electronic Data Transmission 5954316	\$3.00	*	
		Long Distance Call 12029623668	\$0.66	1	
ľ		Photocopies	\$0.25	•	
		Photocopies	\$1.00	•	
		Electronic Data Transmission 13342850681	\$2.00		•
		Photocopies	\$0.75	• • • •	,
		Vendor FEDEX; EXPRESS MAIL	\$10.76		
] ·		Long Distance Call 12029623668	\$0.06	•	
l	-+	Long Distance Call 12029623668	\$0.00 \$0.06	•	•
		Photocopies	\$7.50	the state of the s	•
-	•	Photocopies	•=		
	•	Photocopies	\$0.50	•	
l	•	Photocopies	\$0.25	•	
	-+	• • • • • • • • • • • • • • • • • • • •	\$0.75	<u> </u>	·
		Vendor FEDEX; EXPRESS MAIL	\$29.51	•	
	•	Vendor FEDEX; EXPRESS MAIL	\$12.06		
	•	Photocopies	. \$0.75	•	•
	•	Vendor FEDEX; EXPRESS MAIL	\$62.48	<u> </u>	i
	•	Long Distance Call 18504887864	\$0.11	* ·	
-	•	Long Distance Call 18504887864	\$0.11		
		Photocopies	\$0.25	• -	
1	•	Photocopies	S0.50	•	1
	•	Photocopies	S1.50	•	
L	03/10/08	Long Distance Call 18504887864	\$0.06		

03/11/08 Long Distance Call 18504887864	\$0.11	
09/11/08 Long Distance Call 18504887864	\$0.06	
09/11/08 Long Distance Call 18504887864	\$0.06	
TOTAL COSTS:	\$183.60	